
Following are the details of order #90 placed on fortaj.ca:

Dealer Name: Prime Brakes & Parts
Contact Person: Paramjit Singh
Email id: globeautopartsltd@gmail.com
Contact No.: 7789290562

Product Details Quantity

F-ABS700M
7 Pin Male Plug ABS

10

F-CB60060
Auto Circuit Breaker (12v, 60 Amp)

10

F-CB78060
Auto Circuit Breaker (12v, 60 Amp)

10

F-CB78890
S-Cam Tube Repair Kit (WITH BRONZE BUSHING)

24

F-CT25263007
Coolant Reservoir Cascadia (2007-20017)

2

F-CT64837
Coolant Reservoir Volvo/Mack (2008 +)

5

F-DB78348P
Truck / Trailer Eye Bushing (Height: 3.5", O.D.: 3.5", I.D.: 2.00")

10

F-FR78002
Flasher Relay 2-Pin (60 to 120 flashes per minute, 11- to 15-Volts DC)

25

F-FR78003
Flasher Relay 3-Pin (60 to 120 flashes per minute, 11- to 15-Volts DC)

25

F-H30118B
Mudflap Hanger Black 1-1/8" Bolt ,Length:- 30.00" (Pair)

4

F-H30118B-45
Mudflap Hanger Black 1-1/8" Bolt, Angle 45 Degree (Pair)

4

F-H30118C
Mudflap Hanger Chrome 1-1/8" Bolt ,Length:- 30.00" (Pair)

4

F-H30118C-45
Mudflap Hanger Chrome 1-1/8" Bolt, Angle 45 Degree (Pair)

4

F-H30250B
Mudflap Hanger Black 2-1/2" Bolt ,Length:- 30.00" (Pair)

4

F-H30250B-45
Mudflap Hanger Black 2-1/2" Bolt, Angle 45 Degree (Pair)

4

F-H30250C
Mudflap Hanger Chrome 2-1/2" Bolt ,Length:- 30.00" (Pair)

2

F-H30250C-45
Mudflap Hanger Chrome 2-1/2" Bolt, Angle 45 Degree (Pair)

4

F-HL6000R-VOL
Head Light Volvo VNL RH Chorme ( 2004 - 2016)

1

F-HL6001L-VOL
Head Light Volvo VNL LH Chorme ( 2004 - 2016)

1



F-LK1156-2
Leveling Valve Universal Linkage Kit Adjustable

25

F-MR78600
Mudflap Hanger Aluminum Reflector Top Flap Plate Straight (30.00")

10

F-MR78645
Mudflap Hanger Aluminum Reflector Top Flap Plate 45 Degree (16.00")

10

F-RD789047
Radiator Mack/Volvo VNL,VNM,CT,Granite (2008-2014)

1

F-WA78008
Kenworth T800 Winsheild Wiper Arm (Right Side)

2

F-WA78009
Kenworth T800 Winshield Wiper Arm ( Left Side)

2


